
4? = II =
dq 9

P(q) - C'(q) = 0

P(q)

n
99

P'(q) - C"(q)
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P’  (4) - C”(q) < 0

P’  (4) < C”(q)

P(q) MC : C'(q)  : MC

EC 215



nuinnsiu;i  :

Maximize II = R-C

P P.q - c

= (100 - 4q)q  - (50 + 2Oq)

m - 4q2 + SOq - 50

44 - n P
dq 4

- 8q + SO = 0

:. q = 10

Second - Order Condition : hl7Nl Hessian Determinant

b~&fiI Hessian Determinant ~&~nnaou n - m = 1 - 0 111  1
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P =- 100 - 4q

s 100 - 4UO)

P 6 0 nuw Lhl,l

ru-tb:IhI~dqudtp  LI;-~Tu

n = -4q2 + 8Oq - 50

= -4(10)’  + 80(1(l) - 5 0

82 3 5 0 nu1u  ,tunr1

* J; P(q)  . dq  - C(q)

s+ J,” ( 1 0 0  - 4q) dq - (50 t 2011)

zz 1ooq - 2q2 - 50 - %Oq

n
9

= 100 - 4q - 20 = 0

EC 215 377



ml nn~au~AoUuflu&?nrp

Second - Order Condition : Fiw7~1 Hessian Determinant du~od~17m  .

nniwwhwn n - m = 1-o = 1 ?plAu

n = - 4  co
qq

=

100 - 49

100 - 4C20)

20

6" (loo,-  4q). dq - (50 + 2~)

i2' 1OOdq  - 4q.dq - 50 - 20q

100(q) - 2q2 1,'" - 50 - 2oq

lOO(20) - 2(20)* - 50 - 20(20)

750 n;xJ  tauvl71
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7nu  17UlpI~  :

1

D

p1

p2

p3

EC 215 379



6.n 5lRl  ~'la"lJpiWs~Ciuda711u~al~

( T h i r d - D e g r e e  P r i c e  D i s c r i m i n a t i o n )
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lnu L7UlRltR :

0
41 92

382
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MR =

Q -

MC =

ml + m2

.

mamd  b :
0

MC = m2

~fiu~l-~rto~  N ~VI  E2 lJ%J-lNn?~uPA  q 2 5lFl7  P 2

R = Rl(q1)  +  R2(q2)  + Rj(qj) ’ - - - -  ’ Rl,(q,-,)
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w R1(ql)  +  R2(q2)  +  R3(q3)  +  - - -  ‘- R”(q,)  - C(Q)

an atR,(sl)l a{c(Q)  )
-  0 n1 E

aql aq1 aq1

384

a{Rl(ql)  1 afC(Q) J aQ
Li - - .- :  ( c h a i n  RuIe)

aq1 aQ aql

EC 215



#q$k& RI = Ri(ql) - C’(Q) = 0 _------ i 1  ‘I

12  = R;$) - C’(Q) = 0 - - - - - - - 11,

-- --.

“n =

HJU Ri(ql)  L

R;$) - C'(Q) =

- - - - - - - - - - - - - - -  -I

R,!,(q,) - C’(Q) =

2; $1
c

R;$) = R&J

-

0 - - - - - -  1’3,

-2-- _ _ -  -

0 ------  (n)

C’  (Q)

= .a,= R;(y,) :..  C’(Q)
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*ll n12  . . . “lil

*21 *gv.  *  . n2i
.

.

*i1 ‘$2  . . . 4*ii

R;(qQ-  C” - c” * . *  - c”

- c” R;,(q2)-  c” . . . _ c” lnod :

. .
. .
. . c” = c”(0)

- c” -Cl’ . . . R;(qi)  - c”

UrJlUR-rlaJ  :
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ipmmn  Hessian Determinant qndnih

qin IH,I < 0

n3n It11 < 0

Leo R;(ql) - c" <o

nulfu Ri'(ql) < C"

Hessian Determinant ?pdmu

n% IHJ  ’ 0

nil =12

> 0

n21 n22

n% R;(ql) _ c" - c"

> 0

- c" R';(q$ - C"

{ R;l$) _ =” ) ( R;(qg)  - c” ) - (C’+  ‘) 0
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Ot';$) - C") $(q2) - C" } > (C") 2

LLB~ +I~) - C") (R';(q2) - C") > 0 (L&am)  GYXI

u&in  Ia,]  WJ+ R;'(q+ - C" < 0

?iua fR;(ql)  - C") 1 R;(q2) - C" ) ' 0 il-; LSullJlX&l do

fR’;$) - C”) us= fR;(q2)  - C") 3r"4eunulu  ~nu"auf%.4  du'ludd

iR;(q$ - C”) < 0

,?iudUa’l R';(q2) - C" < 0

R’; $1 < 1 C”
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+I,) = R;(q2) = R;$) = __ _ = RA(q,) = C’(Q)

EC 215 3 8 9



$5 dPiP ‘i dqi + 91 zqi

1
P pi 11 + zdi}

7% I Pi 11 - ,+d,, 1 : (Edi< 0 )

lnud  Edi &I n??uonnJuuounz~uauo~uaVRa7nA  1

(point elasticity of demand in tbe iEh - market)

%
I Pi {l- id,,
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6-1  lEdjl  > IEdlI.  :

Y

Pj(  l- id 1
f

11- id?
-j > 1
{l- 1

Td,

1
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C = 100 f 200 t--hAdo  = q,+qz)

392
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Wni:

7wv.hnum  :

?l = 80 - 5q1

p2 -
180 - 2oq2

n = R-C

x Rl(q1) + R2(q2) - C(Q)

=
P1q1 + p2q2 - C(Q)

Maximize n = (80-5q1)c+ + w30-20q2)q2 - (100+2OQ)

= 80q1-5q; + 1m2 - 2oq; - 100 - 20 (q1+q*)

= 6041 + 16Oq2 - 51; - 204 - 100
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